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FIRST YEAR T.D.C. COMMERCE EXAMINATION, 2019
ENVIRONMENTAL STUDIES

JITIROT J1eTI

Time: Three Hours
Maximum Marks: 100

INSTRUCTIONS/ fad=r
1. The test booklet contains total 100 questions. Each question carry 1 (one) mark.
eSS H el 100 U & I AP YA 1 3 Bl & |

2. Candidate shall be required to attempt all 100 questions.
J4T 100 URF B PR AER € |

3. No negative marking.
FOUMHAD 3 T el © |

4. On receipt of test booklet, the candidate should immediately check it and ensure that it
is complete in all respect. Discrepancy, if any, should be reported by the candidate to
the invigilator within 10 minutes of receiving the test booklet. .
B U gdhelc UK HRd o) Fa¥ Usel IS ol IS a7 U |1 Sifd aR o, af T
U3 H By J(C AUAT Be—whel Bl Al i< Udded DI Jiad HRd |

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the
circle corresponding to correct answer.
B B I Ul $ IR OMR e # 9 €| BF B FEl SR D Do Bl Bl
YTl /BTt U9 | TTERT BTell HRAT B |

6. While answering each question, candidate should blacken OMR properly with black
ball pen as per instructions printed on the OMR sheet.
B Bl IR ad G99 OMR ¥e W & 13 el @1 e 3§ @ 8¢ $let U A 1 Pied
BT BTAT BT B |

7.  For each question only one circle should be blackened. If more than one circle is found
marked, the question will be treated unattempted.
BIE Pl YD YT BT SR U DI § B Blell X ol & | A T A 31D brel e
IR AT 98 SR el UGl ST |

8.  Candidate shall be required to deposit OMR answer sheet with the invigilator.
B @ OMR T IR <7 & ILaTq Gd9ed S ST SR STfard 2|

[1301] Page 1 of 24

http://www.ggtuonline.com


http://www.ggtuonline.com
http://www.ggtuonline.com

http://www.ggtuonline.com

1. A biome contains - 1. II¥ H IuRed -
(A) Many ecosystems A) aF TRRefE
(B) Many communities (B) 3 F TR
(C) Many populations (C) o F SR
(D) A single ecosystem D) wF TRRURE O
2. Hardness of water is due to presence of - 2.  Sd @I HoRdl (74 # ¥ {5 & HROT
8?
(A) Calcium and Magnesium ions (A) Bfezrm v TRy amae
(B) Strontium and Nitrate ions B) WIRRM o
(C) Sodium and Chloride ions © R w

(D) Potassium and Nitrite ions

(D) URCRrM Ud AISgI8e M

3. The famous ‘London Smog’ was 3. URIg "diad SR {6 au # <@r Tar?
observed in the year -

(A) 1750 (A) 1750

(B) 1952 (B) 1952

(©) 1972 (C) 1972

(D) 2000 (D) 2000

4. CBD stands for - 4. CBD f74= # 9 foqar w87

(A) Convention on  Biological (A) Convention on Biological
Diversity Diversity

(B)  Conservation Biodiversity (B) Conservation Biodiversity
Development Development

(C) Conservation Association for (C) Conservation Association for
Biodiversity and Management Biodiversity and Management

(D) Cumulative Plan for Biological (D) Cumulative Plan for Biological
Diversity Diversity
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5. Eutrophication is - 5. Igifthaes & 2°

(A) An improved quality of water in

(A) el ¥ SuRerd Seid T arell
K
(B) bre Fh B Ueb HfhaAT

lakes
(B) A process in carbon cycle

(C) The result of excessive

accumulation of plant nutrients (C) S H UIey Uiyl &I gig

in water bodies

(D) S YlGHROT Tl
(D) A water purification technique

6. Earth’s atmosphere contains ........... % 6. QAR H fdhan ufoera sifeiiod SuRerd
of Oxygen. BT 27
(A) 21% A) 21%
(B) 98% (B) 98%
(€ 78% (©) 78%
(D) 12% D) 12%

7. Excess nitrate in drinking water causes - 7. UISd H AggC B RS HET A qr

I 87
(A) Fever A) @R
(B) Cough and cold B) & @
(C) Blue baby syndrome © «1 941 RigH
(D) Gastroenteritis (D) IFIT<RTEeH
8. “Minimata” disease is caused due to - 8. 'MAFTHar IR fhAa g1 e &7
(A) Lead (A) s
(B) Arsenic (B) IRIFrP
(C) Mercury (€) R
(D) Cadmium D) SefaH
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9. Ecological pyramids are study of - 9. uRRefta R eaa &—
(A) Pyramid of number (A) 3k &1 foRIfes
(B) Pyramid of biomass (B) RN &1 faRifde
(C) Pyramid of energy (C) Tt @1 fomifire
(D) All of the above (D) SRR T
10. Ozone layer thickness is measured in - 10. 3SIE ORd @ Alers b g o Ay
ST 87
(A) PPM (A) PPM
(B) PPB (B) PPB
(C) Decibel (C) sSfyad
(D) Dobson unit (D) <fqad THE
11.  Population explosion causes - 11. @ fapie & 91 81am 27
(A) Bio — diversity (A) Sia—fafaerar
(B) Stress on ecosystem B) URRfRIPH d5 W <drg
(C) More employment (C) o ISR
(D) None of these D) SR P T
12.  Environmental Protection Act was 12. YIfdRor GReror 1fafeH fha a¥ # uikd
enacted in the year - fopar Ta7?
(A) 1986 (A) 1986
(B) 1989 B) 1989
(©) 1994 (C) 1994
(D) 1998 (D) 1998
13.  Air is composed of gases, water vapours 13. A1 # i, 9ot a9 iR @ AftAferd 87
and -
(A) Dust particles (A) T B B
(B) Rainfall (B) auf
(C) Light (C) Iz
(D) None of the above (D) SRS H F PIg Tl
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14.  The goal of National parks and wild life 14.

sanctuaries is -
(A) To promote international trading
of animals and their products
(B) To evacuate tribal people from
forest
(C) Conservation of wildlife

(D) None of the above

15.  Major current environmental problems 15.

are -
(A) Pollution

(B) Global warming
(C) Overpopulation

(D) All of the above

16. Full form of IPCC - 16.

(A) Intergovernmental Panel on
Climate change

(B) International panel on climate
change

(C) Institute for protection of coastal
change

(D) None of the above

17.  Acute lead poisoning is also known as - 17.

(A) Plumbism
(B) [Itai —itai
(C) Byssinosis

(D) Neuralgia

[1301] Page 5 of 24

ISR I Td I=ASid ARG & G

IeTI AT 8?

(A) SR Ud 39 ATl Bl
JFRTETT IR

(B) A dART &1 a4 |
[ERICEIETSl

(C) I=goilg DT GRE]
(D) SWRIFd H F BIS ol
A § H qATaRuiy FAeTy R g?
(A) wigur
(B) dfRg® am™
(C) 3raferep JAraTe]
(D) SR |
IPCC &I GT - 8—
(A) Intergovernmental Panel on
Climate change
(B) International panel on climate
change

(C) Institute for protection of coastal

change
(D) SWRIw H A BIg el
JER oS faureeror I 1 giar 87

(A) T
(B) I8 — 3
(C) TR
(D) =gRfesar
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18.  EIA is abbreviated form of - 18. EIA = & ¥ fohdaar wdfea 22
(A) Energy Impact Assessment (A) Energy Impact Assessment
(B)  Ecological Impact Assessment (B) Ecological Impact Assessment
(C) Environmental Impact (C) Environmental Impact
Assessment Assessment
(D)  Emission Impact Assessment (D) Emission Impact Assessment

19.  India has huge resources of which nuclear 19. ¥Rd # g @R Ul @ e

materials? FaeE 27

(A) Uranium (A) Q:I(?‘I%rq'q

(B) Thorium B) oIRTH

(C) Plutonium ©) D

(D) Deuterium

D) sRam
20.  Three mile island nuclear plant is located 20. off #ieT 3MSele AHGT T3 Hal Iufkerd

in - g?

(A) Former USSR (A) IR USSR

(B) USA (B) USA

(C) France (C) wid

(D) Germany (D) o

21.  Small organisms floating on the surface of 21. al ! A8 UR XA dTel ST HEATT & —
water are known as -

(A) Nekton (A) T

(B) Plankton B) TWIdh

(C) Biome (C) I

(D) Compost (D) RS
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22, Plants in an ecosystem normally act as - 22,

(A) Consumers
(B) Decomposers
(C) Producers

(D) Pollutants

23.  Ozone layer is located in - 23.

(A) Stratosphere
(B) Biosphere
(C) Lithosphere

(D) Troposphere

24,  Water pollution arises due to presence 24.

of -
(A) Domestic sewage

(B) Agro — chemical waste
(C) Industrial waste

(D) All of the above

25. The species confined to a particular 25.

region are known as -
(A) Endemic species
(B) Endangered species
(C) Extinct species

(D) None of the above

[1301] Page 7 of 24

foreft ff iRRerfda a3 & uredl &1 a1,
1 & 9 BT 27
(A) SYHTTT

(B) 3ECH

(C) SUEH

(D) ugud

I kA Pal IURAT § —
(A) WA HEd

(B) SigHsd

(C) sd
(D) erHsd

Slel UquUT H¥&: Tl SO 8laT & —

(A) = s

(B) TIBfHHd JUfne

(C) Si=Efs Il

(D) SWRH T

g8 yoTfadl i e fifded e § &) urs

STl 8, ®Eeldl § —
(A) e gt
(B) g sromferalt
(C) fage wroferat
(D) SWITH P TEl
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26.  Lead pollution in many countries is due 26.

to -

(A) Lead pencils
(B) Batteries
(C) Automobiles

(D) Electronic gadgets

27. Acid rain is caused by - 27.

(A) Excess production of coal gas

(B) Excess release of carbon dioxide
due to increasing combustion
and respiration.

(C) Excess release of SO, and NO»
from burning fossil fuels.

(D) Excess production of gaseous

hydrocarbons

28. Freonis a - 28.

(A) Ferrous sulphate pollutant

(B) Chlorofluorocarbon

(C) Iron
hydrocarbon

(D) Metal fluoride

containing  polycyclic

29. A secondary pollutant is - 29.

(A) Ozone
(B) Carbon monoxide
(C) Methane

(D) Lead

[1301] Page 8 of 24

Fg < H AN U & R HRE
3 A E?

(A) A Ryet

B) &

(C) oifcHETSed

(D) SAdITH ITHR

AT qUT BT PRSP & —
(A) DI T BT JAAD IAESDH

(B) 3fY® <89 Ud 3994 gRT

BT TIRATTATZS BT AANTD
981q
(C) <irared 5991 <84 ¥ SO, @
NO, &1 Jdd g8Tg
(D) IR BIESIPEA &7 IIAH
IS
WIS 8—

(A) DX Hehc U¥D

(B) FARITARIBIEA

(C) el gad uleiargiderd
EESEER]

(D) 91 FeRZS

=1 4 9 T U@ fgdg ugus &7

(A) SIS

(B) HEA HHRIRITSS
(C) #e=
D) A
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30.  Bhopal gas tragedy was due to - 30. O 9 AN [BAD g g‘é?
(A) Air pollution (A) drg ugyol
(B) Soil pollution (B) H&T FuYT

(C) Water pollution (C) oIt wguw

(D) None of these D) o d A =

31.  The biological amplification of DDT at 31. Yiftehdr ¥ X DDT &T Sifdd gae=

the various trophic levels is known as - T HEATT &2
(A) Greenhouse effect (A) N=EreH uWE
(B) Bio— magnification (B) ifdd amges
(C) Eutrophication (C) IgIfhameH
(D) Pollution (D) g

32. A colourless, highly toxic gas, that 32. SR, AfSd favell ™ S vaa= &1

impairs respiration, is - UTId HRdT B—
(A) S0 (A) SO,
(B) NO: (B) NO»
() CO2 (C) CO:
(D) CO (D) CO
33.  Environment can be improved by - 33. ARV B GURT S Fhal © —
(A) Wind erosion (A) dTg AWREA ERT
(B) Excessive tree fall B) AR Ui b R A
(C) Conservation (C) <R |
(D) None of these (D) SWIGd # I BIg Tl
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34.  Domestic waste is - 34.
(A) Effluent
(B) Bio - degradable
(C) Non - biodegradable

(D) Air pollutant

35. Loud noise causes - 35.
(A) Irritation
(B)

©

Irrationality
Impairment of hearing

(D) Dilation of blood vessels

36. A major reason for soil erosion in India 36.
is -
(A) Tilling of land

Deforestation

B)
(C) Overgrazing & deforestation

(D) Overgrazing
37.  The total fresh water reserve of the Earth ~ 37.
is about-
A) 22%
B) 0.5%
© 27%

(D) 0.0001%

[1301] Page 10 of 24

TRl e o # & @ E -
(A) warg

(B) <9 yEeTeld

(C) 3ig qEeed

(D) arg ygu®
e IR o d 9 fdger arRa 8?7

A) Frefrsmd
(B) ddeAdr
(C) g™ ¥ =l

(D) ad arfedel | hard

RA H HaT 3RS Bl &I RS FT
g?
(A) 9 BT ST
(B) fereeirexor
(C) rcafere =xTs Td fAdiehRor
(D) 3rgferd =xT$
gedl BT fol WS Sl Fad I e
gfererd &7
(A) 22%
B) 0.5%
(C) 2.7%

(D) 0.0001%
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38.  The atmospheric pressure is measured by-  38.
(A) Manometer

(B) Barometer

Tachometer

©

(D) Anemometer

39. The main source of energy for the 39.
biosphere is-
(A) Respiration

(B)

©

Photosynthesis
Sun light

(D) Carbohydrates

40. Who all work as a producer in an 40.

ecosystem?

(A) Snake

(B)

Green plants and algae

(C) Fungi

(D) All of the above

41.  Which of the following types of waves 41.
has greatest killing the

organisms?
(A) Ultraviolet rays

effect on

(B) Infrared rays
(C) Electromagnetic waves

(D) None of the above

[1301] Page 11 of 24

qrgHSd &9 fhdd gIRT A19T STl &7
(A) HARER

(B) &R

(C) TR

(D) TR

Slassd § il bl g W o 87
(A) Za9d

(B) I AZITOT

(C) I &1 vare

(D) PretEERTH

aTRReIfel T # DI — I IdTaD B
w9 H H FRA 8?

(A) 94

(B) B U g dard
(C) PHad

(D) SWRH g

7 o 9 f5d YR & 99 &1 Sidal R
Hdd J91d 87
(A) TRISTAT foor

(B) g9pRS fodvor

(C) faga gea1a da
(D) SWRIFT ¥ T B G
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42.  The energy flow in organisms is- 42,
(A) Cyclic
(B) Unidirectional
(C) Radiant
(D) None of the above
43.  Environmental degradation means- 43.
(A) Mixing of pollutants in the air
(B) Bio-magnifications of  toxic
agents
(C) Increase in pollution, toxic
agents, desertification,
deforestation and other factors
that degrade the environment
(D) None of the above

44. The purpose of gypsum application in 44,
agriculture land is -

(A) Reclamation of alkalinity

(B) For control of weed
(C) For control of acidity

(D) None of the above

45. In which year Wildlife Protection Act, 45.

was enacted-

(A) 1962
B) 1972
(C) 1982
D) 1992

[1301] Page 12 of 24

siral § Sor varg 4 # ¥ 5 geR g7
(A) =fha

(B) Ubfi

(C) fafwRa

(D) SWRRH H F Bl I

qgtaNor fAeiipvor & aread g—
(A) vgEDI BT Ay H e

fIuh HRBI BT FRAHERAHIH

(B)

(C) uguUl, fAuRh BRDI, AORICTDHRT,

PraRoT iR a7 BRST § afs
ST TateRvT BT FEET BR W E
JWRIH H A PIg 8!

R &1 @l A iy § SH
I ¥ BT &7

(A) aRa g ¥g

(B) 3T T T

(C) 3riiaar =T 2g

(D) SR # A BIg el

JIoig R S oy v #
JfSaffa gam?

(A) 1962

B) 1972

(C) 1982

(D) 1992

D)
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46.  Color of ozone molecule is - 46.

(A) Blue
(B) White
(C) Pale yellow

(D) Pale green

47. Select ‘abiotic component’” of an 47.
ecosystem from the following -

(A) Fungi and bacteria

(B) Plants
(C) Temperature & Light

(D) Animals

48.  Carrier of Dengue disease is- 48.

(A) Aedes Mosquito
(B) Culex Mosquito
(C) Housefly

(D) Anopheles Mosquito

49. Greenhouse effect causes - 49.

Increase in rainfall

(A)
(B) Lowering of acid rain

(C) Rise in temperature of Earth

(D) Decrease in temperature of Earth

[1301] Page 13 of 24

SIS 3T &1 [T RN 2?

(A) e

(B) wHg

(C) I Urel

(D) ®IHT

=1 9 9 wRRerfda! T3 & snifds acs
BT TIF HITI—

(A) HdgdH Ud SHA]

(B) d&

(C) dT9 TG Hhrer

D) vg

ST I HT AEH RN B?
(A) TSIST ATBR

(B) TgATH HeBY

(C) wadl

(D) TGS HEBR
YITETSE U9Ta | T BT 27
(A) a9l ¥ gfg

(B) iy awl # HH
(C) YAl & arowH H gig
(D) gedl & T H B!
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50. Domestic sewage is - 50.

A)
(B)

©

(D)

51.  World ‘Ozone day’ is being celebrated on  51.

http://www.ggtuonline.com

Waste water from industries
Waste water from residential
areas

Waste water generated from
kitchens and bathrooms
None of the above

every year -

A)
(B)
©
D)

52. Environmental

Sept. 51
Sept. 161
Oct. 15*

June 5t

responsibility of -

A)
(B)
©

D)

53.  The visible light lies in the wavelength 53.

Individuals

NGO’s

Government of India

All of the above

range of -

A)
(B)
©
D)

[1301]

400 — 700mu
390 — 560mu
400 — 860mu

None of these

Page 14 of 24

protection is  the 52.

W el e W ar 2?
(A) SR BT URTE S
(B) ERI &7 R oo

©

YAIS Ud HTFER] BT JUfire
STef
(D) SWREH H A BIg Tl

oA fead gfaay e 991 Sirar 87

(A) a5

B) fydaR 16

(C) 3facaR 15

D) 5

gafeRvr wRefor ot H & fraa e
2°?

(A) @fh

(B) R BRI HIeT

(C) RT WHR

(D) SRIh T

MR T B TRl FIT &7

(A) 400 — 700mu
(B) 390 — 560mu
400 — 860mu

SWRITH H & BIg e

©
(D)
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54.

5S.

56.

57.

58.

[1301]
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The botanical name of Khejri Tree 54.

growing in arid zones is -
(A)
B)
©)
(D)

Prosopis cineraria
Prosopis juliflora
Prosopis indiana

Prosopis indica

Human hair are not easily biodegradable 55.

due to the presence of -
(A)
(B)
©
(D)

Low water content
Antibiotic compounds
Keratin

High inorganic content

Chlorosis is - 56.

A)
(B)
©
(D)

The killing of tissues
Destruction of leaf tissues
Severe drying

Reduction of chlorophyll from
leaf

The Great Indian Rhino has its natural 57.

home in -
(A)

(B)
©
D)

Kaziranga National Park
Corbett National Park
Sundarban National Park

Kanha National Park

Which radioactive element is considered 58.

under indoor pollutants category?
(A) O-16
B) N-13
(C) Carbon- 14
(D) Radon

Page 15 of 24

Y S8 W I ATl WIS Je&l Bl
IIfHd 9 R 87

(A) It ReRRan

(B) U SelTHelRT

(C) urAIftT Sfearn

(D) wrf gRar

AT @ DY fhaad IuRefy & BRI
SISO e fhd ST Adhd?
(A) =1 STt |

(B) TlEnifes diffTd

(C) axfed

(D) 31fre Imifdd /=T
FARINT FT 87

(A) HAPI BT A=A

(B) U B Hadl BT AL BT
(C) & Iepd

(D) Uvl H FARIBSA B HHI

IRA S &1 Wi 3mard w87

(A) BRI I e

(B) ide T eI

(C) YGexgd I Iem

(D) ®rEl IS SE

= & 9 e fSaert d@ sraardt
ugud! d ool # a7rer 2?

(A) O-16

B) N-13

(C) FET — 14

(D) =MH
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59.

60.

61.

62.

63.

[1301]

http://www.ggtuonline.com

Food chains having interlocking pattern 59.
are known as -

(A) Food web

(B) Energy cycle

(C) Pyramid

(D) Cone

Layer which saves life from harmful 60.
effects of UV radiations is known as -

(A) Ozone layer

(B) Alpha layer

(C) Gamma layer

(D) Infrared layer

Which of the following are responsible 61.
for pollution in the environment?

(A) Thermal power plants

(B) Nuclear power plaints

(C) Automobiles

(D) All of the above

Which of the following part of human 62.
body is highly affected by air pollution?

(A) Blood circulation system

(B) Respiratory system

(C) Excretory system

(D) Digestive system
Full form of ‘PAN’ in environmental 63.

reference is -
(A) Para Acid Nitrate

(B) Peracetonitrile
(C) Peroxyacetyl Nitrate

(D) Permanent Account Number

Page 16 of 24

Grel STl Sl B MMIF H Yb X A
ST g8 Bl, BT B —

(A) @TE ST

(B) ofl Tqh

(C) =™

(D) ¥q

I8 URA S WIS fBR0l & gowE |
AT B B—

(A) SIS WA

(B) AW UNd

(C) ImHr w=kd

(D) FHRS W
71 9 9 F1 9IERT H§ UquUl & HRD

g?

(A) ¥ s 935

(B) DI FHoll FIH

(C) SiferHdTged

(D) SWRIh F1

A TRIR BT DIAT AT arg gy §IRT
I A gafad grar 27

(A) <h GRHEROT G

B) AT dF

(C) IS oA

(D) U= T

TITaRoT Hed H PAN &1 qRT 1 &1 57

(A) Para Acid Nitrate
(B) Peracetonitrile
(C) Peroxyacetyl Nitrate

(D) Permanent Account Number
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64.

65.

66.

67.

68.

[1301]
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Noise pollution is measured in - 64.

A)
(B)
©
D)

Decibel
Bar
MM
Volt

Sunderbans are famous for which animal-  65.

(A) Tiger
(B) Rhinoceros
(C) Lion

(D) Anaconda

Term used for species which is in danger  66.

of being extinct in near future is -
(A)
(B)
©
(D)

Degradability
Extinct
Endangered

Global biodiversity

Ramsar International
related to?
(A) Forest conservation

(B) Wetlands
©
(D) All of these

Soil conservation

Earthquake under the sea is called? 68.

(A) Tsunami
(B) Cyclone
(C) Landslide

(D) None of the above
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Convention is 67.

eafy TGyl AU §HTS o 77
(A) SRyee

B) TR

(C) fa

(D) dree

Fa (g ol a1 IuRerfa 4
aRrg © —
(A) dm™

(B) TisT

(C) Rz

(D) TATDIST

Ig FofoRl i o+ arel wRa # fage gF
P HIR ¥ 8, 98 FIT Hecil o7

(A) T 8F IFY

B) faga

(©) dJ«ura
(D) dIRg® Sig fafderar

AR RIS et forasy wwfda 27
(A) o ERE0T

(B) dcels

(C) ¥aT axev

(D) SWRIh F1

TG H I YHY R Bl &7

(A) g

(B) g

©) g

(D) SRS H A B 7l
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69. Carbon monoxide is pollutant as it - 69. HIET AFRITNIES Udh EAED g, ifes —
(A) Inactivates nerves (A) df3rprei &1 ST orar 2 |
(B) Inhibits glycolysis B) TARHIARN &I fohar &1 Jdar
(C) Combines with oxygen (C) :frﬁl_clﬁﬁlﬂ & ey TS ST 3
(D) Combines with haemoglobin (D) EHARAIT & AT S I B |
70.  The vermiculture technology involves the  70. PfH drenfirar # 1 § 9 fHaer Suan
use of - BIAT 27
(A) Azospirillum (A) TAESRTH
(B) Earthworm (B) Eﬁﬂsﬂ
(C) Rhizobium (€) T

(D) None of these D) o W P

71.  Which of the following pair of elementsis  71. = % & &9 A1 T IRey fAfOr

necessary for bone formation? 3MTITD TTh &7
(A) Iron and Zinc (A) olieT 3R o
(B) Calcium and Phosphorus (B) feerm 3R BRHRY
(C) Iodine and Aluminium (C) RS 3iR Qﬁ’gﬁﬁ?ﬂ
(D) Arsenic and Lead D) if sk
72. ‘Ritcher scale’ is used to measure - 72. ‘Raex 9991 el 999 & forv Sy
87
(A) Sound level A) @@ =R
(B) Water level (B) STl ¥R
(C) Earthquake (©) P
(D) Air pollution (D) g — A
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73.

74.

75.

76.

[1301]
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The maximum number of individuals 73.
supported by a given environment is
known as -
(A) Biotic potential
(B) Environmental resistance
(C) Carrying capacity
(D) Population size
Deficiency of which of the following 74.
causes Goitre disease in humans?
(A) Iodine
(B) Iron
(C) Zinc
(D) Lead
Which of the following plants are used as  75.
source of medicine in India?
(A) Eucalyptus
(B) Neem
(C) Tulsi
(D) All of the above
IUCN is abbreviated name of - 76.
(A) International United for
Conservation of Natural Plants
(B) International Union for
Conservation of Nature &
Natural Resources
(C) International Union for
Conservation of Nuclear
Warfare
(D) None of the above
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foer feg 1y gaieRer # gl aafwal an
Aaifdes A S FEaRkd @ o Al 2,
HEATI 87

A) Sfaws Rafas

(B) YATRUY UfeRwE

(C) 9gR& &HdT

(D) ST MR

A9 # g 7 A A 9 e s
I BIAT 57

(A) IMARH

(B) dlrgr

(C) o

(D) Hrr

YR ¥ 599 W B 9 UiY Nl b1 =g
4
(A) W@F

(B)

(C) gore

(D) SWRiH

IUCN &1 =T 31ef T 57

(A) International United for
Conservation of Natural Plants

(B) International Union for
Conservation of Nature & Natural
Resources

(C) International Union for
Conservation of Nuclear Warfare

(D) SWIDH DIy T8I
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77. How many hotspots of biodiversity have 77.
been identified all over the globe?
A) 20
@) 15
© 10
D) 25

78.  Whale is which type of animal out of the 78.
following?
(A) Fish

(B)

©

(D)

79.  Cryopreservation i.e., storage of 79.

Mammal
Amphibian

None of these

germplasm at ultra low temperature is

done at -
(A) -4°C in refrigerator
(B) -500°C in liquid helium
(C) -196°C in liquid nitrogen

(D) None of the above

80. ‘Gir forests” are famous for which 80.

animals?

(A) Cows

(B) Asiatic lion
Snakes

©

(D) All of the above
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ot faeg # Sia fafderdr & oo
HaeTefiel &3t &) ygad @ T8 2°?
(A) 20

B) 15

©) 10

D) 25

2ol gooll 578 O fHg Ao &1 Sfig 27

(A) woell
(B) IR
(C) ST
(D) 3T q Pl I

AT ReTUT BT START SIS

YUSRYT & forv Sffd =1 araem= wR fhan
SITaT 8, I8 dI9E § —

(A)  — 4°C WHIRReR ¥

B)  — 500°C wal Eiferaq |

(€) - 196°C TR Ao #

(D) T & PIE e

iR a7 f5a o= aroft & fog ufvrg 27
(A) g

B) Rz (TRmfes)

(C) 94

(D) SWIh |l
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81.

82.

83.

84.

8s.
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If a human disease occurs only in a
restricted area of the globe, it is known as

A)
(B)
©
D)

Pandemic
Epidemic
Endemic

None of the above

What are the components of Biodiversity?

A)
(B)
©
D)

Ecosystem diversity
Species diversity
Genetic diversity

All of the above

‘Oil spill’ is a major problem of -

A)
(B)
©
(D)

Marine ecosystem
Desert ecosystem
Forest ecosystem

All of the above

The waste material which is degraded by

slow microbial action, are called -

(A)
(B)
©
D)

Biodegradable pollutants
Non — biodegradable pollutants
Natural pollutants

Anthropogenic pollutants

Chances of damage of outer surface of
Taj- Mahal at Agra is due to presence of
gas like -

A)
(B)
©
(D)

Hydrogen
Sulphur dioxide

Chlorine

Oxygen
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82.

83.

84.

85.

I BIg AFAG I Bbadl Y dfaa e T
fafdad &= & & urar ST ®, @ 39 Ped
§_
(A)
(B)

et

HETART

(C) &

(D) SWRRH H A BIg T8l

Sig — fafdudr & gcd & — di 9 27
(A) uRRerfa fafaerar

(B) orfa fafderar

(C) arrgaiflre fafderd

(D) SWRKRH T

e ST = § ¥ fhaa! yqE aae
87
(A) | wRRerfe!

(B) woRerelg uikRerfiar d

(C) =g uRRefaaT a1

(D) SWRH T

J e o R — R geAohfa foramatt
¥ Juafed & 9 g, dEd o

(A) i — e g5y

(B) 3ig — FFaRe gqud

(€) WPfaF wqu®

(D) #FESI gguD

JMRT H Rerd drovgd & SUl 9dg &

JHAT Ugd B AT fba I B
SURfT & HRUT 87

(A) EISZIOH
(B) Tomx SE3liasS
(C) F&RA
(D) 3o
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86.

87.

88.

89.

90.
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Green peace is -

(A)
(B)
©

(D)

An international NGO
International peace accord

International treaty on ocean
dumping
UN’s environmental initiative

Natural gas is primarily composed of -

A)
(B)
©
(D)

Methane

n — butane

n — octane

A mixture of n — octane and

n —butane

Which one of the following is an in-situ

method of biodiversity conservation?

A)
(B)
©
D)

Reserve forests
National parks
Sanctuaries

All of the above

Snow — blindness is caused due to -

(A)
(B)

©
D)

Ultra — Violet radiations

Excessive flux of visible
radiations
Infrared radiations

Microwave radiations

Ecotone is -

A)
(B)
©
D)

Ecosystem
A zone of an ecosystem
An ecological study

A zone between two ecosystems
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86.

87.

88.

89.

90.

¥ = a2

(A) TP FIRE™T NGO

(B) TP AR Foeidm

(C) 9'R ST R Uoh JaRIET Gfer

(D) UN oI yafareiig ugd

mfad A qead: e o+ g8 27

(A) oA

B) n — A

(C) n — 3ifae

M) n-—offFTW@n —FA D
fasor 9

SIg—Aferar TRefor o7 TR UG F

8?

(A) g a=1er=
(B) T S
(C) 3RV

(D) SRR T

fRATIdT BT BRP T 27

(A) RIS fHRo

(B) wue ol &1 rufdd yarg
(C) 3reRaq fawoi

(D) #TghIdd fapvol

SHICH R®IT 8°?

(A) uiRRerfaa =

B) uRRefadr 73 &1 ta aF
(C) uRRerfaT sreaas

(D) <1 uiRReIfdaT 93 & 9 &1 &
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91.

92.

93.

9.

9s.
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The main pollutant in vehicle emission 91.

is -
(A)
B)
©
(D)

CO

CO.
SO,
SO

The dominant gas in biogas is - 92.
(A) CHa
B) C:Hs
() CO:
(D) NO2
Which of the following is a pollution free  93.
source of power?
(A) Coal
B)
©)

(D)

Petroleum
Hydroelectricity

Natural gas

Which of the following energy source is 94.
considered eco-friendly?
(A)
(B)
©)

D)

Solar energy
Coal
Atomic energy

Petroleum

Green electricity means - 9s.
(A)
B)

©

Electricity produced by trees
Thermal electricity

Electricity produced by those
sources which are not harmful to
environment

(D) Low cost production of electricity
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T8 Icdu § J&I Ugud 57

A) CO

(B)

(©)

D) SO;

T § 9 & 9 9RIRE & 9" 9 77

(A) CHy

B) CoHs

(C) CO2

(D) NO2

=T % 4 I AT UguUT Jad SHoll Bl

EId 87

(A) DI

(B) ugiferr

(C) TISSIsclideRIc

(D) UHdS 449

7 & 9 &I A1 Sl BT Ed ghibsel

2?

(A) SR Joll

(B) ®rIa

(C) TRy Huif

(D) ugiferam

BT fagd & acad 8 —

(A) USl gRT Sedrfed fastedt

(B) drg fasrel

(C) TH Edl gRT faSTell STd Bl
ST 9ATEReT BT B T8l ugdy

B G H faoTell Sfed el

CO2
SOz

D)
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96.  Ecological succession taking place in 96.

water is called -

(A)
(B)
©
(D)

Hydrosere
Lithosere
Xerosere

Halosere

97. Plants are green due to presence of the 97.
pigment called -

A)
(B)
©
D)

Chlorophyll
Glucose
Nitrogen

Oxygen

98. In our country Van Mahotsav Day is 98.

celebrated on -

ST & TR B drell RRefd
AT HEAT 2?

(A) STAFHD

(B) SrethHd

(C) #oHAD

(D) AIUTHHD

Wl BT B T fhg e b HRUT 8°

(A) FARIA

(B) P

(C) TIggISH

) IECIERINE]

g HaIHd f?;qﬁ HIXd ﬁ ‘D HATIT STl

87

(A) 10 August (A) 10 3FT
(B) 2 December B) 2 fearr
(C) 1 April (C) 1 3ia
D) 1July D) 1 W
99.  Disaster Management includes- 99. 3MUST Y§eE H @1 Al 8—
(A) Mitigation (A) 3BT
(B) Reconstruction (B) gAfMAr
(C) Rehabilitation (C) W
(D) All of the above (D) SRITT
100. Xerophytes are the plants- 100. #SEMIE YIS daf Ui oI 27
(A) Grown in humid regions (A) T gad & § I drel
(B) Grown in arid regions B) I A H I arel
(C) Grown in temperate regions (C) T &= § I arel
(D) Grown in saline areas (D) @R & F S aTar
[1301] Page 24 of 24

http://www.ggtuonline.com


http://www.ggtuonline.com
http://www.ggtuonline.com

